. FY-435

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Part — III Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes

Maximum : 80 Scores

~

( General Instructions to Candidates :

® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.

® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
°

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 8 questions from 1 to 10. Each carries 1 score. 8x1=28)

1. Which of the following is adopted by the government to promote equity in agricultural

sector after independence in India ?
(a) Advancement in technology (b) Self-Reliance

(c) Land reforms (d) Diversification

2. Which of the following is an Indirect Tax ?
(a) Income Tax (b) Goods and Service Tax

(c) Corporation Tax (d) Property Tax

3. Who used ‘Jail Cost of Living’ to discuss poverty line is Pre-independent India ?
(a) VKR.V.Rao (b) Jawaharlal Nehru

(c) Dadabhai Naoroji (d) R.C.Desai

4.  Horticulture relates to :
(a) Production of milk and milk products
(b) Production of fruits, vegetables, flowers etc.
(c) Production of fish

(d) Animal husbandry

5. Primary Sector includes :
(a) Construction (b) Trade

(¢) Manufacturing (d) Mining and Quarrying
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1 2)®08 10 Q160 GaPsiBHElGd ago®®slene 8 ofIPOIIm 2OMOOAYLG)M:.
1 ¢capod aflow. 8x1=8)
L. avo®E@E@®0MImoe AN 30B8aH]lH cAsULIG MVAGIo HE)GHAIGBIBMANGI MW

MSaleneslw MSals] ag® ?
(a) avoceGilas allzyilor! aleEInNi (b) aVP@OI

() @aIBlaHB06Mo (d) esaiallwy a1mdonmMo

2. 21)016S M@HIBEIMNAUIRITS alcRIBH T3] af@® ?
(a) aE@IM afla)o (b) avowm erLAIM Al

(€) e20Ba|cOaumd Mo (d) v de)oi

3. o™ a)@Q] HAMII@ BoRlBY Goa 2lBs] ©aIQMGIMIV] RV elalo

0212101 Da 16U 2 @ @RI ?
(a) all.ea.erd.all ooan (b) =0IOOLIG M)

(c) BRorRIMIOD MAIcEI (d) @©@rAR.cJ. esuooxi

4. a00dGldUBa)@ NINWEL|SIBENMM®
(@)  a19®3, al0L@a]|MEIBUD )OS DEJIBMo
(b) anRIEBU, ala|EOGINHUB, AlBHUB @)SEEIVAIMAS HEJIBMo
(c) @aoryoePcmo

(d) 2awaidlaloeimo

5 (onolds caaleIlcd 9uBeals)ano

(a) dBemdoemo (b) Q1ya1000
(c) oelpsmo (d) aummane aodlae
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6.  Population in statistics means :
(a) Total number of people in the country
(b) Total number of people in the world
(c) Totality of the items under study area

(d) Selected items in the study area

7. Which of the following is a frequency diagram ?
(a) Histogram (b) Pie-diagram

(c) Simple bar diagram (d) Multiple bar diagram

8. The measure of central tendency which divides the series into two equal parts :
(a) Quartiles (b) Arithmetic mean

(c) Median (d) Mode

9. Which of the following is the most frequently observed value in a series ?
(a) Percentiles (b) Range

(c) Frequency (d) Mode

10. Which index number is known as cost of living index ?
(a) Wholesale price index (b) Consumer price index

(¢) Human development index (d) Sensex
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6.  QLIAUBOBI@3 ‘TLATV®O’ (Population) ag)aN@)6)B06MNE GRA@NANIGNAN®) :
(a) ©OROOD BRYON, BMEBBOS af)siNo
(b) GRIDGHO DD BRYE B> RMETBB )OS af)gRo
() alOmM cRRIRIVIOLI @RS B> ENMETBUD

(d) al0m CRRIRIVIOE! HDVHETNS)ENEAIS)AN ENMETBUD

7. 21)016S M@BHIBS9)MAUIIE3 @R QIYEITI AW (Do @I ?
(@) adlavegomao (b)  ©8al wWo

() aloallud MiIdd AW Wo (d) addglaflud miod Ao

8.  80) guamilow oae ®)elyedweansov] cald GIClemm eH(MElw (@Ialem®o @Raal

aB@®em ?
(@) a1eBNB0 (b) aVadTOERIWE
(c) owypmo (d) euao)eIdo

9. anaes N@HRNBeNMAI@I, 80) ¢UIIMDIGE Qo HS)MTI @YD o)

HOEMAQ[SIAM M)L1Yo aB@IEM ?
(a) voOREBUD (b) eo0xem

(c) @RI (d) enuao)eId0

10.  &lal® 9412101 V)2 @ af)aIn @RCIWEEIS)AM AV)ald:080 ?
(a) emomaller av)ailse (b) 2alcEdEmONEI ALY B

(c) 2ampuyaflaaum av)aila (d) eavadeavaay’
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11.

12.

13.

14.

15.

16.

Answer any 4 questions from 11 to 15. Each carries 2 scores. 4x2=98)

List any four causes of poverty in India.

What are the two aspects of diversification in agricultural productive activities ?

List any two merits of Pilot Survey.

Calculate simple aggregative price index for the following data :

Item | Base Period Price | Current Period Price
A 4 6
B 6 6
C 4 5
D 2 5

List any four steps towards making a project.

Answer any 4 questions from 16 to 20. Each carries 3 scores. 4x3=12)
Write the suitable economic term for the following :

Total number of workers in India
(@) Population in India

x 100

(b) Workers who own and operate an enterprise to earn their livelihood.

(c) Process of moving from self-employment and regular salaried employment to

casual wage work.
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11 2)®e8 15 190 ¢asiEBdElod «go®m®slele 4 af)aROTmn POMOOAY®)d:.
2 capod afl@o. (4x2=238)

11, eamyi@d BodlBIOTIMISBS aBO@EILI} MOLT BH0sMeBUd LaV] ea1Q))d .

12. 808l  DLIalsm  (aladommemglonl  asalaflwy QGO0 O3 c

BOUNEIBUD aBO@EYo.

13, 96a121 MVBOAIWIAS BO@BILI0 OME CABUB LNAVQ 6)1a 1)1

14, anaies m@BHAdlenam 3amenglad allanle cdhalel oo™ aflel L) @080

DHEMBNIHBN D !

Mo @RSINNIM A1BaHAilel ®anome ailel

SlOo|w| >

4
6
4
2

whn | | | D

15, 80) ¢10235:g denlenMTIMBS e @B1L1j ML *LISE1U3 LIV 61210 d:.

16 2)®08 20 190 GaR3iEBEIl ago®BIENe 4 af)INOTM POMOOAY®)d>.
3 capod aflo. (4x3=12)
16.  21)016S M@HNVIBE)IMAIDEE) @RMICGVILRANIN) TVIMUDITN D> alBo af) 93> :

sHafleel H®o¥1eIogEaa10S @Rye D af)sifo
(@) AN YO 21 HRIBITo LM AVosY

x 100

(b) &laiemoalulenow] 80} duNdalMo DSANOGXIM@  Qla)  (ICIGGITIEENAM

O ®0¥1 21081 503

() o o®mII@, aubloe VMG O@IFIG afalAUIIGE  aflamye  @yell

O @I LNGEISS MOOY)IM (1.
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17. Complete the chart showing functions of environment.

Functions of Environment

* Provides aesthetic services

18. List any three areas, where an economist can use statistical tools.

19. Distinguish between continuous variable and discrete variable with one suitable

example for each.

20. Construct a pie-chart from the following data :

Item of Expenditure | Percentage
Labour Charge 60
Wood 15
Iron 5
Bricks 12
Cement 4
Supervision 4
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17.  a1dludlGla)es wdememed @:06mleemm 210383 al)B 015l ose)d:.

a1dlaudl@lwes wEomesud

* QUDMBEYPME)OI (IB0Mo 219N

18. 80} CLIMIEDIG VOOANTEVM AVIEILH: DaldbOEMEBUE DalCWIWIGNIM HF1WIaM

RO@BILI M)AN CARILINUD LNaV] e1a1Q)d>.

19. ava® 21001 @RAVAN® 21001 @G UGB},  BICOIATIM)o

@RMCWIRAIW DBIAODVEMo Af)F}D)d>.

20.  21)016S MDHIVIGIB9AN BEMEIBSIG3 AaN)o Heal W Uo M2 HND

®ale101 DMETBUD YO@AOMo
O®o¥1@3 ML 60
sl 15
6N’ 5
gDyl 12
adlaad’ 4
GAMG3EMIZo 4
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Answer any 4 questions from 21 to 25. Each carries 4 scores. (4 x4=16)

21. Write a note on Green Revolution.

22. (a) Whatdo you mean by Agricultural Marketing System ?

(b) List any three measures initiated to improve the agricultural marketing in India.

23. Match Column ‘A’ suitably with Column ‘B’ :

A B

(i) Commune System Students and professionals sent to work and

learn in country side.
(ii) High fertility rate Massive industrialization of the country.

(ii1) The Great Proletarian Cultural | Collective cultivation of land.

Revolution

(iv) Great Leap Forward Pakistan

24. Draw scatter diagrams showing the following correlation :
(a) Perfect Positive Correlation
(b) Negative Correlation
(¢) Negative Non-linear Correlation

(d) Positive Correlation

25. List any four issues in the construction of an Index Number.
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21 2)®@3 25 160 ¢a1osBElad aBEO®BIEe 4 afIPOVIM DOMOODY))D:.
4 cnpod aflo. (4x4=16)

21, a0dl® allgla1n®m d)dla] B0} d)0la] ©QO0I)H.

22. (@) 9BaH]d AflaleNm AVEANWIMo af)IN®)H B06MNE BRAMONIBN)ANG) af)ANIED ?

(b) a8  @»0BexHld:  allaleM®o  HN2OIS)TMANGTIM of)S)OGISS

ARO@B]LI} M)A DBIAGBUD alGlHea |S)OT)d.

23, 63080 ‘A’ W)o EGHHIBo ‘B’ W)o G2l10)0alS] GalBHN)D :

A) (B)

(i)  a@omyend aveallwomo aflzdmblaegwie o®a¥lad allay aoWo

al1GlamaMna@im)e c20ellen@owi

NODEBBE]CLIGS BRWa).

(i) 2©AM EIM)TBalBm Moss | CRyOlo3 DA CMITNENSs

QIQUTVIV] B AUBIHNOEMo

(ill) 2aOTIW O®IYLI0E] allle el MVcreISI® Bl Gloi
aVOEMVENICIH Qflglalo
(iv) B 3)©ila) 21050 aldlaunoad

24, anaes OGHIIGENAN  TVAONITWEIBOB  HFVIGNIN  AVH0QB  WDUNEBBUB

QIO

(@) andem catoaiglar muaosnImwo

(b)  emuglarvaosnimwe

(©)  emuglarcmosd elalla avaosnImMWwo

(d)  canaiglai mvaosniawo

25, ) llaos dlldodl@loleorl aga@®lens 4 (@1¢gemud elavg ea1Q)d:.
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Answer any 4 questions from 26 to 30. Each carries 5 scores. (4 x5=20)

26. Explain the sources of human capital formation in India.

27. From the data given below, find median graphically.

Number of Shares | Shareholders
0-10 60
10-20 80
20-30 12
30-40 28
40 - 50 20

28. Prepare a frequency distribution table from the data given below by taking class width

as 7 by exclusive method :
28 12 14 10 9 5 4 23 43 29
34 31 24 20 10 30 40 12 22 32

42 6 4 40 14 16 18 8 23 37

29. (a) What are the methods that a researcher uses to collect primary data ?

(b) Write the advantages of any one method.

30. (a) Whatdo you mean by sustainable development ?
(b) Explain the strategies for sustainable development.

FY-435 12



26 2)®@3 30 AO0 ¢a1BEBEIA3 aBEOBIEN 4 afIPOVIM DOMOOAY;)D>.

5 empod ail@o. (4 x5=20)

26.  snamyiloel amieuy 2)e1wm o)allaesmosiland 20allsenud allvddla:dles)d.

27.  21)016S M@HNVNBE6)IM 2106BE1@3 WNAN (NN QId] DWIEHo HEMENIBND: :

302001 5H8)0S 30000 SABUD
cO%Be
0-10 60
10-20 80
20-30 12
30-40 28
40 -50 20

28.  @oquenscalg 7 @@ aldlnemla] 9udeald8n@d SIGIIGE 210165 MaBHI0Idle9)I

BoMeIBE] @3 AFlaN)e @RYAUYGIIN ANGEM alSld: @QINILND: |

28 12 14 10 9 5 4 23 43 29
34 31 24 20 10 30 40 12 22 32
42 6 4 40 14 16 18 8 23 37

29. (@) (oAl BOMEUEIEEMGBITI MOV B0} VEAUH DTS DalGIUTBHNAM o@g;amc@
BO®EJ00.

(b)  po@BILN B30) DOBPRETNOG CABUD af) 3@

30. (a) avdle Alld:aVMo af)AN@E G06NE BRAGLAAISNAND af)aNIEIN ?

(b) avaudle alle:avm @OMeBUd Alvddld:alBe)d:.
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Answer any 2 questions from 31 to 33. Each carries 8 scores.

31. Calculate Mean, Median and Mode from the data given below :

Marks in Economics | Number of Students
0-10 5
10-20 15
20-30 18
30-40 12
40-50 20
50 -60 15
60 — 70 7
70 — 80 3

(2 x 8 = 16)

32. Analyse the Liberalization policy measures introduced in India as a part of New

Economic Policy in 1991.

33. “Govt. adopted a three dimensional approach towards poverty alleviation in India.”

(a) What are the three approaches ?

(b) Analyse them.
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31 2)®@3 33 Q100 GaBKBHEIG aBEOBIEIS 2 af)FROTIM DOMODALI®)d.

8 ecg;)o@ afloy.

(2 x 8 = 16)

31, 21018s M@3HVIGBIEmaN BOMEBSEIG3 AlaN)e AW, AWIBHo, MNIaO)RIdo af)aTial

BEMNSNIBN D
DGCHNIMOA HMOEI 2OBHE »)SlHB1OS af)amo
0-10 5
10-20 15
20-30 18
30-40 12
40 - 50 20
50-60 15
60— 70 7
70 — 80 3

32, 1991-03 oY@ OHMBIAUAN  aTMA3 ALIMUITTDH MWEIBIOS  BINAIWS]

MSa flensaslo 9E0AIGEHOM MW MSaISIAUD AlldDHLIMo 6)21Q))d:.

33. “enamyi@d Bocl@y MdrmadRamEmImI] @l ®@el audlaihacem walndenad

afladlaflgBs®”

(@) @ @A MVAlaINEBURB aBO®EJ00 ?

(b) @Al aflvodeiMo 6121 d:.
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